Multiplicacion por Celosia (G)

Use la multiplicacion por celosia para hallar cada producto.

9 8 8 38 3 1 6 4
8 5 3
0 1 1
1 3 0
088 x 801 = 383 x 513 = 164 x 310 =
8 2 6 1 0 5 17 2
7 4 4
0 8 1
8 8 3
826 x 708 = 105 x 488 = 172 x 413 =
8 8 0 8 0 8 9 9 3
3 9 4
9 1 7
2 1 2
880 x 392 = 808 x 911 = 993 x 472 =
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Multiplicacion por Celosia (G) Respuestas

Use la multiplicacion por celosia para hallar cada producto.

2 2 0 3

7 7 0 9

880 x 392 = 344960

7 0 7 9

0 0 0 1

808 x 911 = 736,088

993 x 472 = 468,696
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